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MANAGEMENT (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized
one.

Assume suitable data, if considered necessary, and indicate the same clearly.
F-distribution and t-distribution tables are attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1. (@) TF TaMMHd 9FF 397 e & R F FRO1 28 Gha1 B| T8 99 ft T8 Tha1 & 5= 39> e A
=13 3R 7 acft | Tafiffa wm F < § 3R R, suh mlra 01 R I' wwH ' ® AR @l
¥ 3 }, soh Wi 095 R, swfh e & fomn Rt qR % wobm e R, swehl wRE@
045 &I

TE @ S @ 7 v e ) sweh = ik @ ol & gfe & suen www 27

A newly constructed house can collapse due to fault in its design. It can also
collapse even if it does not have a design fault. The probability that the design

of the newly constructed house is faulty is 0-1. The probability that this house
collapses if the design is faulty is 095, whereas, the probability that the house
collapses without any fault in design is 0-45.

It is seen that the house has collapsed. What is the probability that it is due to
fault in design? 10

(b) ‘FH-3muia foseg womel’ w1 ufenfya e @EEE § @ aftem IwEm f Gge A
o= Fifsrg)

Define ‘knowledge-based expert system’. Briefly discuss its major applications
in business. 10

() ‘“‘fafmin (aggail) @ da1 dored F ywy F 9w AR FH A W ) aged w A
TaTe! & o faemm @ifas sl % e § 38 FuA i faEe i)
“The difference between management of manufacturing (goods) and service

operations is reducing.” Discuss this statement in the light of the fundamental
differences existing between goods and service operations. 10

(d) e YfeEeiEal F el Jem H TF St 4 TR G 32 O AR H aRiEw i mn ek sae
< | guA Sfeaa i gad Sta FE 18| A= F aifere A1 StEl & 3R H AfEE !
1 Y 3 JHT <d & T e @ gforeedi emnfea ga?

gferaaHt ID 1(2|3|(4|5|6]|7|8]|]9](|10]11

S 1 3% 23|20|19|21|18|20|18|17 (23|16 19

g 2 3 24 (19|22|18|20|22|20(20(23|20/|17
[Sifa 5% Tneferal ®R W]

(TTevas GRoft 368 99 % o § Hod ®)

Eleven police personnel were given a test in shooting. Further they were given a
month’s training and a second test of equal difficulty was conducted at the end
of it. The table below contains the marks awarded in the two tests. Do these
marks give evidence that the police personnel benefitted from the training?

Police personnel ID 1 2|1 3|4 (5|6 |7]|8]|9|10]11
Test 1 marks 23120(19|21|18|20| 18|17 |23 |16 | 19
Test 2 marks 2411912218 |120|22|20(20|23|20|17
[Test at 5% level of significance]

(Relevant table is attached at the end of this Paper) 10
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(e) ‘“ETER AEwEEHA AN (To 3o Ho)’ F Ryl i Ywiftha Fif Ta Tam Hifdry f FRPyipone foms ouide
THo 3Ro o Jurell 34 IeTA! ! UTH X Hehell & |

Outline the objectives of ‘Material Requirements Planning (MRP)’ and explain
how an MRP system can achieve these objectives. 10

2. (@) UH % &g fag yerus A o WA & i T aTal 318 &t % g frefefaa
iR dehfera forg 1 @ft &l o1 R TE vt fadward g 81 fosra weewues wean @
T 87 ¥ Fra s aifiratett i @ 3 sueht fasr smeht it wanfaa frn 2

fawa &3 fawa faga sifywatsit #1 G
(¢ T3 #)
1 100 10
2 80 10
3 60 7
4 120 15
5 150 20
6 90 12
7 70 8
8 130 14
() I® A T F o diEET geday [ Heifae | F® fase yerae 1 s faem w6l

27
(i) T W wfrma wiew faswfia AN ok 9w w@m w=a g s h TR W
iR s, aft 16 fosa sifiratst it 38 &3 & faa e sm)

The area sales manager of a company has compiled the following data for the
eight territories under his/her supervision. All the territories have similar size
and consumer characteristics. The sales manager believes that the number of
selling agents assigned to a territory has an impact on its sales revenue :

Sales territory Sales Number of selling agents
(crores of ®)

1 100 10
2 80 10
3 60 7

B 120 15
5 150 20
6 90 12
7 70 8

8 130 14

(i) Find the Pearson’s correlation coefficient between the two variables
mentioned above. Is the sales manager correct in his/her belief?

(i) Develop a linear regression model and using it, predict the sales in a
territory if 16 selling agents are assigned to it. 15
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(b) TH AR A 4 T SrEaaral * AH{E @ue e T F A A1) A sRgare Th-
TR A TG F AR F dH & (FF) F R §) womew o @vet § wden w9 w0
=Tedl 81 39 A ¥g O fawiw 7 v sreqar % e @ve A 10 A 1 A
wfdesl % &9 § g1 T 3R wehen g A g | Frafifaa aifee 3§ oforst @ sifififRea
T s ®1 0-05 Teferan TR W, 1 AT reddrel 3 afved wden gea § R 6 wE 27

T 1 ST 2 ST 3
12 7 5
8 3 4
7 7 4
6 5 5
7 5 6
4 6 4
8 8 7
5 6 8
6 4 6
7 7 4

(3w |l 39 9 6 37q 3 Gom )

A city administration conducted a study of the waiting time in the emergency
wings of three hospitals. These hospitals are located in three zones of the city
far away from each other. The administration is interested in reducing the
waiting time at the emergency wings. To study this, a random sample of 10
emergency wing cases at each hospital was selected on a particular day and
the waiting time was measured. The results are recorded in the following table.
At 0-05 level of significance, is there evidence of a difference in the average
waiting times in the three hospitals?

Hospital 1 Hospital 2 Hospital 3
12 7 5
8 3 4
7 7 4
6 S 5
7 5 6
4 6 4
8 8 7
S 6 8
6 4 6
7 7 4
(Relevant table is attached at the end of this Paper) 15
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() Uiwrd fafits w ot @ I a2 I W it dfewEl w@ sEN A wdt Ft R
200 THe I FHH W WEnd fafies Faa et iR @ 39t 81 3 e HEw 3g 98
A IR ® foF ZareR | ufd whe € 7,000 ¥R @S | wfd wwe € 2,000 < FH FHA R
30 e HEH A AR % T Ui U 4 7 @Rl T 3 2 e qaieil H A g,

Safs IS & foie 9fd wehe 2 29 @Rl @ 1 & dieAns et i ravgsdar el wnend
fafiee 3 afts @ a1fte 600 27 @Rl 3R 330 2 e gl & forg ergary fomm 21

() 3@ 0EE T 9 TN B AR FA F oY 79F wEa F oI fra wws fiftea
a1fR? @ H ffd 7 S v @ R7

(i) ufd THE WS A JFaw T9 71 ¢ a1t e fafiee & fog onfde v 8w A adt
9 A7

(i) IR == A wfd wHs @W € 2,500 A, A e fafite # m dwm ¥ @ )
ftrpan FA F o 72+ waa il Gt fraa the e § w0 Y avaedar 7

Agrofarms Ltd. is a company engaged in large-scale cultivation of organic
vegetables, grains and cereals. In 200 acres of land, Agrofarms Ltd. grows only
tomatoes and onions. For the upcoming season, it estimates that it can make a
profit of ¥ 7,000 per acre of tomatoes and ¥ 2,000 per acre of onions.
During this growing season, each acre of tomatoes will require 4 tons of
fertilizers and 3 tons of pesticides, whereas each acre of onions will require
2 tons of fertilizers and 1 ton of pesticides. Agrofarms Ltd. has contracted for at
most 600 tons of fertilizers and 330 tons of pesticides.

(i How many acres of land should be devoted to each crop to maximise its
profit for the season? Is there any land that remains unfarmed? 10

(i) What is the minimum profit per acre of onions that would make it
economically feasible for Agrofarms Ltd. to grow onions? 6

(i) If the profit per acre of onions were ¥ 2,500, how many acres of land
should Agrofarms Ltd. plant of each crop to maximize the profit for the
season? E

3. (@ () Ui (W) A & wHifes Rt # geeg FIfvg)

(ii) Gehfera AT & TIT 3@ (I9) wd &R WHIfaE! &1 vl hifsie) 3 @ TRl e1ftes v
foran s =nfee?

(iii) &a1 % fore wehfera Fremn fafmior & forg wefera demn & 2 fia ardft 27
(i) List the strategic objectives of aggregate planning. S

(i) Describe the chase and level strategies for aggregate planning. Which one
of these should be preferred? 5

(i) How does aggregate planning in service differ from aggregate planning in
manufacturing? 5

CRNA-S-MGMT/17 S [ P.T.O.
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‘w@nﬁm’wﬁm%?
‘Fd egga’ wa ‘fafy e’ wet = gfenfya Hifsg)
3T SO 1 FUH HIFT S FwE AemE v faft sremam @ wfufea €1

What is ‘time and motion study’? 4
Define the terms work study’ and ‘method study’. S
Describe the steps involved in work study and method study. 6
T =mel i foriwaeti #1 3g@ i)

P-=T 1 Bl 27

10 TEl (@i2), Weis g # 300 e ¥, & flew ufom fFrafafaa §)1 v @ &
IRl 7t s 25, 30, 35, 40, 45, 35, 40, 30, 20 W 50 ® :

feT® fAdiféra it ureft et grequf wEt
(Fawer ) # g # qear

(@) (b)

4 300 25

5 300 30

6 300 35

¥ 300 40

8 300 45

10 300 35

11 300 40

12 300 30

13 300 20

14 300 50
Fa G = 10 3000 350

P-vE ®g Y Fav fethfaea wd off R fafie it omn difstg siv v Sifse f =0

wisea faeson # R

Mention the characteristics of control charts.

What is P-chart?

CRNA-S-MGMT/17
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(i) The following are the inspection results of 10 lots, each lot having
300 pieces. The number of defective pieces in each lot is 25, 30, 35, 40,
45, 35, 40, 30, 20 and 50 :

Date No. of pieces No. of defective
(in Novem.ber) inspected pieces found

(@) (b)

4 300 25

5 300 30

6 300 35

7 300 40

8 300 45

10 300 35

11 300 40

12 300 30

13 300 20

14 300 50

Total number = 10 3000 350

Calculate the average fraction defective and three sigma limits for P-chart,
and state whether the process is in control.

qd: g1 YoTelt o Bl ®7 7R A weR FHE FAl R7 s6E vy, @ied wd Rreqwmeid
(FFATSERe) GoEH HH-FH | &7

What exactly is an information system? How does it work? What are its
management, organization and technological components?

{-imd, fefrea I wd fefeet aggeil = ahenfia Hifve ol fegm ket 6t &=
Hifsw)

Define and discuss the unique features of e-commerce, digital markets and
digital goods.

1 e el B wfugiers o W F ¥ wehweasd (Ref), @R wmet (#r
FHAR) au1 Jeash-niia WHfe F wam § fF yer | gema w87

How do information systems help businesses use synergies, core competencies
and network-based strategies to achieve competitive advantage?

12

15

15

20
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5. (@) FN FIEA { T Fi G Feamavas §7 e, e @ oyhedeo % kel f
e Fifsw)

Is State participation in business essential? Discuss the objectives of
liberalization, privatization and globalization. 10

(b) Tegwm ghfaa fafies (T9o 3o wae) 1 v (W) <fifste) o= fifsg 76 w0 30 o
AfYas T W 9 IR T IiErerl Y arofar (FRAfafed) Sk 3dt ) # 0  wena §
o5 Frot awat ® FifF 98 A IR U6 IRE=eH § gRofigar ) g9E €9 @ 3T W
1?38 fowa ® g steran fame & o1 et 6t g AR

Take the case of Hindustan Unilever Limited (HUL). Assume that HUL
emphasizes on sustainability in its products and operations at global level. Are
you in agreement that the company is successful because it could effectively
embed sustainability into its products and operations? Give your arguments
for or against the issue. 10

(c) ¥Rd WHR g EE-fafa fifa F d9g § 39 v falm I w1 e ghew
FIT | TREN % 9 F WY IR F AR F IO )

Critically examine the various initiatives taken by the Government of India in
respect of export-import policy. Give examples from India’s trade with the
Asian countries. 10

(d) ¥ 39 AFd & % agEE i (We wo o) F yw yaw wa frem Wl siderawan &
o % foTu wameema 27 39 e # Wo o Hio i =ediyess wHifagt $i faasm Hifsm)
Do you think free entry and exit of Multinational Corporations (MNCs) is

healthy for the growth of Indian economy? Discuss the business strategies of
MNCs in this context. 10

(e) TH Y FRU-HZIA (F6 W) F IYAM Fd §C IRA § HIGSI+h &3 5 WaBHEl & T+
gfETe FE ?g 1 =9 wa mawie wHifae deen i favmasg A faam it

Using a small case study, discuss the contents of a good and workable
strategic plan for management and operational control of public sector
enterprises in India. 10

6. (a) TY-TE A (THo THo 3MMZo) F Heaw ¥ R H Afa =1 eirTems whew Hifsm)
o THo 3o & famwm &I der T T fadi, yerudhm qun aREmem o i @ F@ 8§
RdTa RNt fomm o (3o Eho o 3mgo) qu FfY wd anfivr fasm wda §% (TWo o
o To 3Ro o) i it W b BTfeTT |
Critically examine government’s policy with regard to Small-Scale Industries
(SSIs). Highlight the role of Industrial Development Bank of India (IDBI) and
National Bank for Agriculture and Rural Development (NABARD) for promotion

of growth of SSIs and for overcoming their financial, managerial and
operational sickness. 15

CRNA-S-MGMT/17 8
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‘gt TfEEl ¥ 3 v oTEaE v R #1738 Fom i R it qdf e o ovide
Hifsre for = e gfasEl 3 @R g ffde Rt =t ww fF )

“Many objectives of public enterprises are not clear and are conflicting.”
Discuss the statement and point out whether public enterprises have achieved
the objectives laid down by the government. 15

(i) it ik T (Ho To Ro) T Anifies W ¥ A9 g9y @) Gfiwar sRfd
Fifre) foaem fife 5 fra R @@l et 3 9 safEt f Ho o amo
Tormatt = wfaa fom 21

(i) WER WY & G&A ANAF TG T F? T IRAT FR B ATga G vuiEa q
T & & Frued ¥g waiw #7 R fifm)

() Elaborate the relationship between Corporate Social Responsibility (CSR)
and Corporate Governance. Discuss how the government regulations have
influenced CSR actions of large companies. 10

(i) What are the major economic impacts of cybercrime? Are the Indian
cyber-laws adequate to effectively deal with cyber-security threats?
Discuss. 10

“wery % faftm w0 w Rl 59 v g ST #1738 e i fEs fifg
Ierewl afea awesy o6 frm weEr fafim wdl w ary wrifadi i whipa e st &)

“Strategies are formulated and operated at different levels of management.”
Discuss this statement.

Explain with examples how strategies operating at different levels are
integrated. 7+8=15
FrafeRaa % w1 wd swfiren 1 e § faem fifv

(i) sito Hio o AfZam

(i) o Fo o Hiea
(iti) GTAH (HAIRZ-8) WA

Briefly discuss the meaning and utility of the following :

() BCG matrix

(i) GEC model
(i) Turnaround strategy 5x3=15

A9 e e F fordl 3em § o i vfoergl 6 e wtwdl 6 fadem S @y @, =
m%wmmﬁwﬁﬁm@wﬁmﬁmmmH@%
e R ey s

Discuss the Porter’s five forces of competition in an industry of your choice.
Also, identify the important strategic groups in that industry and highlight the
effects of such groups on the strategies of the market leader. 20
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8. (@) (i) ¥Ra A fawmrasiia sfereaeeneti & fou yeaw forsfh Faw (Tho dlo 3mmgo) it wa o =ome
e AR @ 1 2 A AR Tho o e AEMa FA F T S WA w
fee?
(ii) A § Tho o 330 AT<ITH HI WA 9 HOR oM (FHARHT) *F fg YrRa wWHR g1
gftra siftrmfe it sifiret i faa=m Hifs)

(i) Discuss the importance of Foreign Direct Investment (FDI) for developing
economies like India. Should these countries go all out for attracting more

FDI? 8
(i) Discuss the role of authorities created by the Government of India for
streamlining the FDI movement in India. 7

(b) () aitra R 6 fra ver fhd 2m 6 Gwla 38 @ § eeE =3 ara B gtad
F gahdl B | QTR0 T A
(i) SSTTaehfehal (TeAraf2sa) #1 ¥7 I8 foha TR agugi wrafEt & Wery i gwTfed
27

(i) Outline how the culture of a country might influence the cost of doing
business in that country. Illustrate with examples. 7

() What is ethnocentrism? How does it influence the management of multi-
national companies? 8

(© (i) IR 39 TH W FAH F TEEH T S IE 9 H FW FA B, A Fe Fuila FA F
U 3 FA-F ¥ HAUS! H1 IFEN KA R R TH IAR F w9 A Regemiew
(FFEEd) TaER (FeTE) # aftas Sudkeel sven i e % fag
Torerftra foren s =nfe?

(i) FfE-19 e TEmWE ¥ AftE @RS T gl SEensd # wnfaa R )
TR fF 60 YR UF 2@ Aieies SE SliEd SHaEE H QI HEEE %6
TvaTd AT SeR-te § 3rfie e §9 @ g FA e g 8

(ifi) T TTABE % U 3o AfTE R R F A FA F FA-HE 4 fafim oo #7

(i) If you were a manager in a company that operates in many countries, what
criteria would you use to determine whether a technological innovation
should be developed as a product for global consumers or local consumers? 7

() COVID-19 pandemic has impacted global logistics and supply chains.
Explain how an efficient logistic function can help an international business
compete more effectively in the post-pandemic global marketplace.

(i) What are the various options a firm has to minimize its global tax liability? 6

* Kk Kk
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t-DISTRIBUTION
Values of ty p

A N\ 0.05 0.025 0.01 0.005
1 6.314 12.706 31.821 63.657
2 2.920 4.303 6.965 9.925
3 2.353 3.182 4.541 5.841
4 2.132 2.776 3.747 4.604
5 2.015 2.571 3.365 4.032
6 1.943 2.447 3.143 3.707
7 1.895 2.365 2.998 3.499
8 1.860 2.306 2.896 3.355
9 1.833 2.262 2.821 3.250

10 1.812 2.228 2.764 3.169

11 1.796 2.201 2.718 3.106

12 1.782 2.179 2.681 3.055

13 1.771 2.160 2.650 3.012

14 1.761 2.145 2.624 2.977

15 1.753 2.131 2.602 2.947

16 1.746 2.120 2.583 2.921

17 1.740 2.110 2.567 2.898

18 1.734 2.101 2.552 2.878

19 1.729 2.093 2.539 2.861

20 1.725 2.086 2.528 2.845

21 1.721 2.080 2.518 2.831

22 1.717 2.074 2.508 2.819

23 1.714 2.069 2.500 2.807

24 1.711 2.064 2.492 2.797

25 1.708 2.060 2.485 2.787

26 1.706 2.056 2.479 2.779

27 1.703 2.052 2.473 2.771

28 1.701 2.048 2.467 2.763

29 1.699 2.045 2.462 2.756

30 1.697 2.042 2.457 2.750

40 1.684 2.021 2.423 2.704

60 1.671 2.000 . 2.390 2.660

120 1.658 1.980 2.358 2.617

oo 1.645 1.960 2.326 2.576
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